The Limiting Reagent

Equation to make a Salad:

1 lettuce + 2 carrots + 5 radishes ( 1 salad

How many salads could you make if you had 2 heads of lettuce, 12 carrots, and 25 radishes?

Determining the Limiting Reagent/Reactant
The limiting reagent is:

· The reactant that is completely consumed in a chemical reaction

· It determines how much product is produced

· When the limiting reactant (LR) is all used up, the reaction stops

Excess reactant

· Is a reactant that remains after the reaction is over

The Limiting Reactant/Reagent in Stoichiomertic Problems

When doing any Limiting Reagent problem follow these steps:






Example #1:

Lithium nitride reacts with water to form ammonia and lithium hydroxide, according to the following balanced chemical equation:

Li3N(s) +   H2O(l) ( NH3(g0 +   LiOH(s)

If 3.87 g of lithium nitride reacts with 5.80 g of water, find the limiting reactant. 

Example #2:

White phosphorus consists of a molecule made up of four phosphorus atoms. It burns in pure oxygen to produce tetraphosphorus decoxide. 

P4 +    O2 ( P4O10

A 1.00 g piece of phosphorus is burned in a flask filled with 3.60 x 1023 molecules of oxygen gas. What is the limiting reagent? How much P4O10 can be produced?

HW: P. 259 # 3-6 and P. 254 #23-26

Write a balanced chemical equation





Identify the LR





Calculate the amount of the required substance based on the amount of the LR and convert it into the units asked for in the question








